SEiEE
MESOTIATFRAKE

Bl & H SM3E10/8108(A)
= 5 EHEAR—YAET=—Xa—+
* & BINT =B
* & BIT—RABEHFBEES
X £ E 2 S I
AEREE =1
TA4LYE— ey
Loxl)— ey
A—EvJT7 oMy RIE XE Eh E=RF T
BmEES INE & EHK A M R BE R
iz —E HE FE L == S KE
EHR EE =E %52 FF HmF
XE & F M 10810H(H) 8:30 (ERNTEREAEGHABELET)

X Y=, REBLr—FT A PRICTEYFIYTF (6682414 TL—5)
BIFEHANE. 845 —LTOEy b 8—8F414TL—%)
B —LFRT/—F ENvTF—=o
)—JEOREIEF 3F—LDFE 1—2, 2—3, 1—3

AF—LDFZE 1—2,3—-4,1—-3,2—4, 1—4, 2-3
FE)—TDIGE2MMNRE b—F A MZEHLET,
HEFMBAIIORBRIEEY—T4EDHELFET,
TR FRETL. Y—THELGEEZROTHEL I L,
E5—LEOKRBEEL. BEEFAL L TKABFEHROAROET,
HEDREET =RV T7ET 5,
BFEIYYIZLa—Y, KFETVE—RAREI Y (TOYVIERA) I2Xa—FHD
WEa—veEdT 3, t—4— - A—TahH2 - RXAMEOBRIEHFINDIN. I+ —LT
Y TR—YEEREICK Y KREREDOFIEET B,
¥ FEIOF VA NABREBARBIEREELDTFoTLEEL,

¥ A—HF—FTTL—FHERRV-LET,



[27] Am 78—
> & ) 2% m | Bl Bl | ®| B &
I | =8 271 B Hers wl| g |EEEE D e |usxs
F| = #l M & & F|lul| 6 a
BF ARk AJOvY 1 2 3
1203 TN — Swing!Swing! 6 1]6 3
1 A S| SwingiSwing 21| 2] 0|00 16]12]075
0 LT[
1037| % ¥ | ONE PIECE 6| 6 4
212|111 ]o50] 17| 7 [041
0 [] []
1376 y BT 3 6(4 6
AT a5 7 213 0] 2|ooo| 19| 7 [037
0 [
BF AR BIAvY 1 2 3
1377) &1& N | HBAZIFE—3 | |6 7|6 3
4 2 12| 1] 1 |os0f22] 12055
0 | (3] L]
11| %Nl 8= | Swing'Swing! | 7 6| - 6 2
Bl 2 wing'Swing 2120 [100f21]13]062
0 [3] ][]
1448 M BE BT 3 6|2 6]
Gl 7t 2130 2[ooo]17] 5 |029
0 [] []
BF Afk cJovy 1 2 3
1115 5 F=RZ SR 6 1|7 5
3 Sl o | e A 2112/ o0]toof 19] 13 [oss
0 RN B B
1676| LA =15 AET17 6| 6
=t T 21 3|0 2 |ooo| 14| 2 [014
0 [] []
1129 ¢ —BB| Swing!Swing! |5 7|6 1
ERARHE—ER| Swing!Swing 212 1| 1 |os0]19] 11058
0 [
BF AfR DAYy 1 2 3
1187 (R ATIE—3 | 6 0[6 O
2 FR | & © 21112/ 0 [100] 12] 12 |1.00
0 [
1356| Bl RA | EEKT=X= [0 6 6 2
212 1| 1 |os0] 14] 6 |043
0 [] []
1120 =¥ F&k | TEREEE [0 6|2 6
L o] 2130/ 2000|124 2014
0 [
EEEY EE
A1l 1203| TR —i&  Swing!Swing! 1203 R —i&
i 6
co | 1129| #5KFE—BR  Swing!Swing! 1 1111 ST
i [] 5
D2 | 1356 Ailf RA TEHET=-R% 111 (ST 7
i 1 [ ]
g1| 1111 #E)Il =  Swing!Swing! 6 1187 1R
i [] ¢
ci| 1115 Fi&x # T=X-3Hh 1115 T # 6
i 6 [1
A2 | 1037) 8 J&  ONE PIECE 1 1187 ik A
13 [] 2
B2 | 1377 &4 BN HAIIE—3 1187 7 1 6
i 5 [ ]




BF Bk FEY—Y
S 2 T |Bla| |o|m|=
a - _ S| E|R|R | B BB
||~“ = EAT i HEekER it wlals = ;Ga ecle
BF Bk AJOvY 1 2 3
1532| =il 18F Feain 6 4(4 6
1 212|111 ]os0]20(10]050
0 [
1064 EH | EDOHSC (4 6| 7 6
2| 3| 1| 1]os0]23(11]o4s
0 [ ] | [6]
s003| MLl %% | BIREWUD |6 4|6 7|
211 1] 1 ]os0|23[12]052
0 [ ] (6]
BF Bk BJOvY 1 2 3 4
1379 +i K| #H—530 6 0[6 1|6 O
3 3113 0]roof19(18]095
0 N N )
3000 /MR OEE | BHRKEWr) [0 6] 6|4 6
3140 3]ooo|23| 5 |o22
0 [ ] R I I B
3002| A HEiE | BAKEWr) 66 1| 6 1
312 2| 1 [o67] 2113062
0 [ N
1095 £ 2 A¥E| TPJOY |0 6|6 4 6|
33| 1] 2]oss 23] 7 |os0
0 [ Y ) I
BF Bk coyy 1 2 3 4
1393| #54F 8K | Swing!Swing! 6 3|3 6|1 6
2 3(3] 1] 2033 25(10]040
0 N Y ) O
3001| H{X #E2E | BHRKEWr) [ 3 6] 6|0 6
3|14]|0|( 3]|ooo]22( 4 |o18
0 [ ] A I
1724 FH F | EKT=X& |6 3|6 1 6 4
3113|0100 26(18]0s9
0 [ |
1113 it E#| TPJOY |6 1|6 0|4 6|
32 2] 1]os7]23]16]070
0 [ Y ) O
B5F B#k RER—F AV
A1 | 3003 Hl EHiEF BAREW) 3002 BE HiE
i :
B2 | 3002| A HiE BAREWr) 3002 A HE |6
i 6 [ ]
c2 | 1113| HFt E#  T.PJOY 1 1379 +A A
o [] 3
gy | 1379 +iA FIK  $H—%30 1379 +3 K 6
fiz 6 []
A2 | 1832 =i & Feain 0 1379 +a @A
o [ ] 6
C1 1724| FH IF fERT=RE 0

fi

[]




BF 5500 F REEY—4
A 7 R e B
c 5 # | %
1010 JBX |EX F=R-SR
1.00| 21 | 16 |0.76
0
1725| #E@ = _
050( 21 | 12 [0.57
0
123 EE B fEBETF=—2L
000f 18| 2 [o.11




ZF — % FiE)—5 off A FAE 9.RM 5 Et 14
|2 =l |mla I | W
v = T = §I~ ﬁ{t‘.}\ PA=] PA=]
L s | am R HARE B pol AR L s by
TF —h% AJOvY 1 2 3
2267| £&t R | EDOFHSC 6 4 0
1 211120 /[100]16]12]075
0 L1] L]
2124| B1LUERE Nexus 4 6 0
212|111 ]o50]16( 10[063
0 [ ] | []
2304| ARKHES | BFHEA) [0 6|0 6]
213]| 0| 2/oo00]12] 0 [000
0 I
TF — g BJ AwY 1 2 3
2080| ;BEHFEDH | T.P.JOY 6 7 1
3 2121 1]o50]20( 12060
0 [5] [ ]
2147| HEZEAF| EDFHSC (7 6 2
2112 010021 13]062
0 [5] [ ]
2134| RREZF| TTLIRe 6|2 6
213]| 0| 2/oo00]15] 3 [o20
0 [ ] [ ]
ZF —fi& cayy 1 2 3
2138| fENEHF| EDFHSC 3 6 6
2 213|102 [ooof18] 6 |o33
0 L1 []1]
2051 NREHEF| AFXLITC |6 3 6
212 1|1 |os50]17]| 8 |o.47
0 [ ] [ ]
2296| &H#F EHNR Tl 6 3|16 2
2112010017 12071
0 [ ] [ ]
TF — % RESR—F AV
A1 | 2267| £Xf FREE EDOHKRSC 2267 E# R
v 6
B2 | 2080 GEFFEDPAH  T.P.JOY 2080 BHEGH | 1
iz 6 []
c2 | 2051 /MRERF RFLSTC 1 2267 EH E
i [] 6
g1 | 2147| BHEHF EDHSC 2147 BEEHF 1
iz 6 [1]
A2 | 2124 SERE Nexus 2 2147 BHEAF
i [] 6
c1] 2296 F EH  I)LAun 2
v

[1]




ZF 4510 F RIs—2
2 z| |m|a |22
a8 _ Y AV AETETE: IR IR
% %ﬁ” FEE uﬁeﬁﬂ% it ﬁi é é $ g G G
= | |H|® #| =
1 2 3 4
2084 EMMBAEF | TiL/Nwn | 6 1|6 3|6 3
3|13 0]100]25(18[072
0 | 01| [ 1 [t-3RreT
2323| {kRE BE AEXLSTC |1 6] 7 5(3 6
3121 1] 2033 28] 11039
0 [ ] | [ [ ]
2340 EE #F =OHSC (3 6|5 7| 4 6
313|103 [000f31]12]039
0 [ 1] 1 13
2191 =EE%EF | LTLIMEN |3 6|6 3|6 4|
2142 1]|o67[28] 15054
0 1-3RET| [ 1] [ ]




